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AR 1s 159 AR ADIFAEAR N FHBOR P IRR A D RERAZL

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

—rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r——-r—— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()

FEAHA TR R AT :

$ python prog.py
$ python prog.py —-help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python prog.py —--verbose
usage: prog.py [—h]
prog.py: error: unrecognized arguments: —--verbose
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$ python prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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4n:

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)

PATIEBAR A

$ python prog.py

usage: prog.py [—h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py —-help

usage: prog.py [—h] echo

positional arguments:
echo

options:

-h, —--help show this help message and exit
$ python prog.py foo
foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args ()

print (args.echo)

MBI

$ python prog.py -h
usage: prog.py [—-h] echo

positional arguments:

echo echo the string you use here
options:
-h, —-—-help show this help message and exit

B A — LB A R R 15 -

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args ()

print (args.square**2)

PR T R AN :

$ python prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'

HERAKIEF]. ERAEE, BAERMAEEY, argparse @R MAEHEERETH. Fit, @RS
#F argparse MRZI A ERE

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args ()

print (args.square**2)

TR BHATAERIT

$ python prog.py 4

16

$ python prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args ()
if args.verbosity:
print ("verbosity turned on")

BHRGIR

$ python prog.py —--verbosity 1
verbosity turned on

$ python prog.py

$ python prog.py —-help

usage: prog.py [~-h] [--verbosity VERBOSITY]
options:
-h, —-help show this help message and exit

——verbosity VERBOSITY
increase output verbosity
$ python prog.py —-verbosity
usage: prog.py [~h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

B RER

$ python prog.py —-verbose
verbosity turned on
$ python prog.py —--verbose 1
usage: prog.py [—-h] [-—-verbose]
prog.py: error: unrecognized arguments: 1
$ python prog.py —--help
(BT —H)
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usage: prog.py [-h] [-—-verbose]

options:
-h, ——-help show this help message and exit
—-—-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store_ true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

[Pk

$ python prog.py -v
verbosity turned on
$ python prog.py --help
usage: prog.py [-h] [-V]

options:
-h, —--help show this help message and exit
-v, —-verbose increase output verbosity
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbose", action="store_true",
help="increase output verbosity")

args = parser.parse_args ()

answer = args.square**2

(BT —5)




EHE—5)
if args.verbose:
print (f"the square of {args.square} equals {answer}")
else:
print (answer)

SRR BUAERH 2R

$ python prog.py

usage: prog.py [—-h] [-v] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 --verbose

the square of 4 equals 16

$ python prog.py —-verbose 4

the square of 4 equals 16

o FAA T BT, NI
« FER, JEFEREZ.
FARE AR 2 RS S AED (verbosity) Z (HRYRE ST, [EIECERGEMEAM:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f" {args.square}"2 == {answer}")
else:
print (answer)

BH AR

$ python prog.py 4

16
$ python prog.py 4 -v
usage: prog.py [~h] [-v VERBOSITY] square

prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16

B T RSN R AL, il T RMEEP R — AR R Eil RS ——verbosity BEIHA DA
EZINERBEE:

import argparse
parser = argparse.ArgumentParser ()

T 1D
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parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f" {args.square}"2 == {answer}")
else:
print (answer)

B RRAR

$ python prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, --help show this help message and exit

-v {0,1,2}, —--verbosity {0,1,2}
increase output verbosity

AL, R S WA U AR B

BUIAE, FRFRAMEEH ) — T WO A BrAUR R AE) . & B CPython A AR IR 3L B Sl sEAEA(E)S |

Wty AMFF (A5 python ——help [ ):

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity == 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f" {args.square /"2 == {answer /")
else:

print (answer)

A AN A 7 —H B count” FHIAGEHFFE E OIS IH H B UL

$ python prog.py 4

16
$ python prog.py 4 -v
472 == 16

$ python prog.py 4 -vv
the square of 4 equals 16

1




(R E—1)
$ python prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16
$ python prog.py 4 -v 1
usage: prog.py [-h] [-v] square
prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h
usage: prog.py [-h] [-v] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit
-v, ——-verbosity increase output verbosity
$ python prog.py 4 -vvv
16

o 2, BUEEEBRRRM E—REA P REE (MR action="store_true"), &M%l DAMFRE
AR

 BRATEA "store_true” $4F

 BIfESEE/REE T "count” BYEMIVER . 1 HT REDART Wi 5 18 F V5
o WERARANEE v R, AIRZEARHE R A None {H.

o IEMFEIIRALER, Hee RIBAR, TS BT R .

o AR, TR B R E AR R EE A SR R AR, (EIR A AT DA o
[EIAR SCO AR ELE A B (FIan: B help BISETIIH).

o AR TR SR .
A AR B -

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity >= 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

EALZE A

$ python prog.py 4 -vvv
the square of 4 equals 16
$ python prog.py 4 -vvvv
the square of 4 equals 16
$ python prog.py 4
BT —F)




(R E—1)
Traceback (most recent call last):
File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o SE-UE R EANEST, IR TRMZ BRI REE. WtRE, RMAEEM >=2 rEHR SRR

o SR AL
A ARG R -

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer}!")
elif args.verbosity >= 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

MG IA T — B #EF default. FAMEHRE o, DAEAHSHAD int (AT ILE. Rl FHRR
‘%T, USRS E T |, BN None fH, [EJHARESE int (AT HE: (PIL @ B TypeError fi
Hh) .

1 H.:

$ python prog.py 4
16

MR IE é\IJ}:F)ffﬂ@JEI’J%[I‘%JETW&?HTE%%THT A HEEN A BE B EBME. argparse
BAHAEFHEIR, EHRABR RN G EHERTELRR.

6 SEERE—B

AR T AR ST AR AU T HAD U7 OIS, A 7

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x} to the power {args.y} equals {answer}")
elif args.verbosity >= 1:

print (f" {args.x/}"{args.y} == {answer /")

T —T0
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HEHEE—5)
else:
print (answer)

KA

$ python prog.py

usage: prog.py [-h] [-Vv] x vy

prog.py: error: the following arguments are required: x, y
$ python prog.py -h

usage: prog.py [-h] [-V] x vy

positional arguments:

b4 the base
y the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbosity
$ python prog.py 4 2 -v
472 == 16

e, BIEEELL, MR R ER A BUR SO DU G AR RS £ % S0

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:
print (f"Running '{__ _file_ }'")
if args.verbosity >= 1:
print (f"{args.x/}/"{args.y} == ", end="")

print (answer)

MR

$ python prog.py 4 2

16
$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'
472 == 16

11
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WEE — {05 o2 A7 S | Mo 2 7 | Mg A B8, WIRARE —— A55F parse_args () Z &I ITAEIAHZ
(VAL &

>>> parser = argparse.ArgumentParser (prog='PROG'")
>>> parser.add_argument ('-n', nargs='+")
>>> parser.add_argument ('args', nargs='*")

>>> # ambiguous, So parse_args assumes it's an option

>>> parser.parse_args(['-£'])

usage: PROG [-h] [-n N [N ...]] [args ...]
PROG: error: unrecognized arguments: —-f
>>> parser.parse_args(['——', '-f'])
Namespace (args=["'-f'], n=None)

>>> # ambiguous, So the —-n option greedily accepts arguments

>>> parser.parse_args(['-n', '1', '2', '3'])
Namespace (args=[], n=["'1', '2', '3'])

>>> parser.parse_args(['-n', '1', '-—=', '2', '3'])
Namespace (args=['2", '3'], n=["1"'])

6.2 HEHEHIER

#HpE -, M —EAEMH argparse.ArgumentParser B Bl f W 18 7 . I 4L =0,
add_mutually_exclusive_group (), B SRFFIM$E & 0% b1l 28 fY 8 . FRAM 2 nT DA e 2 =0 g 4
Ay, DAMEEARTIRE A R RIMAFGIA ——quiet BEIH, %I ——verbose BIAM T

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-gq", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f" {args.x} to the power {args.y} equals {answer}")
else:

print (f" {args.x}"{args.y} == {answer}")

MBI T, RMEES R RKE T LEIRE, (AR, ATE R

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 -g
16

$ python prog.py 4 2 -v
(BET—H)
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4 to the power 2 equals 16
$ python prog.py 4 2 -vg
usage: prog.py [-h] [-v | -q] x vy
prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v ——-quiet
usage: prog.py [-h] [-v | -q] x vy
prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose

BB FHHE TR, AR B PSR SN, R AR AR SR s .
AERMGTHRZ T, ARAT AR W G RN 2 H B9, RAB e A R0 -

import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-qg", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f" {args.x} to the power {args.y} equals {answer}")
else:

print (f"{args.x/}"{args.y} == {answer /")

AE R SCTFIIAMEE EE (v | —al, EATFRMATARE v 8 -q, (AR -

$ python prog.py —-help
usage: prog.py [-h] [-v | —gq] x ¥y

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbose
-q, ——quiet
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7 Wn{aEH5E argparse &

argparse BIAIAYHEL , GIINE B SCFAIEERRAUR, AT AZEIR M gettext BIAIMETTRIGR. & L aFIE
P REEAR AL argparse FMIUFUE. 552 [E i18n-howto,

Fan, FEM argparse fHH:

$ python prog.py —--help
usage: prog.py [-h] [-v | -q] x vy

calculate X to the power of Y

positional arguments:

X the base
% the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbose
-g, ——quiet

“FHp usage:., positional arguments:, options: fl show this help message and exit Hf
& LB R o
BT Bssm ey, WSS BRG] oo B . N, i Babel [EHAFT R4

[$ pybabel extract -o messages.po /usr/lib/python3.12/argparse.py J

UL HE argparse BATHHREUE Brf v BIREA 75, ESE M 84 E messages . po MIHZE T . &
5 AR Python 2 Z4E4E /usr/1ib H,

PRl AT PA R EA 3] argparse BATE RS RIAHE :

import argparse
print (argparse._ file )

—HB# T cpo MRTHFMEEME gettext ZH TR, argparse MREEBURBRERATUE.
HEAE argparse Wl PRIBRRE CATH, G gettext,

8 #h i

argparse AR ILILREARNEZEL . ER U R AR EMEA RL M. S8R
%, VRMERZ AT DAEERAT AL BT, A e RS A HBT .
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